HW #3

ECT 213

Spring 2008

Name:______________________________________

Due Thursday Feb 28, 2008 (start of class).

1) Given the following Karnaugh Map (K-map):
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a. Give the full (un-simplified equation)

b. Minimize the equation using the K-map, and give the simplified Boolean equation below.

2) Given the following Boolean expression, fill in the K-map and simplify. (hint: since the first term only has 3 variables, two squares will be given the value of 1) 
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a. What is the simplified Equation:

b. Draw the simplified circuit:

3) Minimize the following K-maps and write the simplified equation below:
	           
[image: image22.wmf]CD



[image: image23.wmf]AB


	
[image: image24.wmf]D

C


	
[image: image25.wmf]D

C


	
[image: image26.wmf]CD


	
[image: image27.wmf]D

C



	
[image: image28.wmf]B

A


	1

			1


	
[image: image29.wmf]B

A


		1

	1

	
	
[image: image30.wmf]AB


		1

	1

	
	
[image: image31.wmf]B

A


	1

			1



	
	           
[image: image32.wmf]CD



[image: image33.wmf]AB



[image: image34.wmf]D

C



[image: image35.wmf]D

C



[image: image36.wmf]CD



[image: image37.wmf]D

C



[image: image38.wmf]B

A



[image: image39.wmf]B

A


1

1

1


[image: image40.wmf]AB


1

1

1


[image: image41.wmf]B

A




	           
[image: image42.wmf]CD



[image: image43.wmf]AB



[image: image44.wmf]D

C



[image: image45.wmf]D

C



[image: image46.wmf]CD



[image: image47.wmf]D

C



[image: image48.wmf]B

A


1

1


[image: image49.wmf]B

A


1

1


[image: image50.wmf]AB


1


[image: image51.wmf]B

A


1

1


	           
[image: image52.wmf]CD



[image: image53.wmf]AB



[image: image54.wmf]D

C



[image: image55.wmf]D

C



[image: image56.wmf]CD



[image: image57.wmf]D

C



[image: image58.wmf]B

A


1


[image: image59.wmf]B

A


1


[image: image60.wmf]AB


1


[image: image61.wmf]B

A


1

1




4) Given the following Boolean expression, fill in the K-map and find the simplified equation.
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